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01 AR 2t2Ibl 3,960 3,960 0
OSEA 2t==t| 3,960
—SAHIAAY a4
160,000& x12& 1,920
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— A4S FAH 3,000,000& 3,000
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01 2= 24,682 24,682 0
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307 2iz2told 3,600 3,600 0
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—7= 7,457 x2Bx28A| 2tx 12 5,012
—8= 6,682 x2Hx28A| 2t 128 4,491
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Bt | 12,240 12,240 0
201 e 12,240 12,240 0
01 AR 2t2Ibl 12,240 12,240 0

OFAMESIIZ22HI 10,800

—Let=EH| 40,0002« 10« 12E 4,800

—= 50,0002 x10& » 122 6,000
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©J1=23l (eto: &)
SA - BY . SAEH) - HRANY - B e HIDE2
OSAD| 8Xt2 120,000« 10 =122 1,440
Ol 14,400 12,000 2,400
202 OdH| 14,400 12,000 2,400
01 =Ll 14,400 12,000 2,400
OgRFaI |20 120,000« 108+ 122 14,400
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